26 10 21

Bg/L Bg/L
C C C B (
35m 35m 2 2 )
_ c-2 C-2-1 c-0 B.0-1 Y1
10 20 10 20 10 20 10 20
6:50 6:35 6:25
Cs-134 2 ND(L.1) ND(L.7) Cs-134 2 ND(17)
Cs-137 30 ND(1.2) ND(L.8) Cs-137 30 23
B ND(21) 20 B 53
330 T-2
ND | 4 SEEUKOA
BRAOMERK |
c c :
35m 35m i
T-2 c-2 c-2-1
Cs-134 2 35 11/9 45 9/26 59 <8/11> i
Cs-137 30 8.1 9/1511/9 130 9/26 15 <8/711> | Dittealiy oS T Y BEETK fit Bt ST R T R SRR g
B ND 2500 10/24 78 <9/7>
YT
- S KXAMAIRC HARIBELL
. . ( [P RS TRY . CHEEE
) ~ADFNAHEIHYFLA
c-0 B-0-1 o1 e
* RS IIREREEIIERE
Cs-134 2 20 <2/15> 110 <5/1> 450 10/4 '
Cs-137 30 51 <2/15> 280 <5/1> 990 10/4
B 120 <2/15> 380 9/2 15,000 10/2
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